
Tahák se vzorci 
 

 

 

 

 

 
 
 
  

 Jednoduché úročení Složené úročení 

Výpočet budoucí 
hodnoty 

 𝐹𝑉 = 𝑃𝑉 ∗ (1 + 𝑖 ∗
𝑘

𝑛
) 𝐹𝑉 = 𝑃𝑉 ∗ (1 +

𝑖

𝑚
)
𝑚∗𝑇

 

Střadatel  
předlhůtní 

𝑆− = (𝑚 +
𝑚 + 1

2
∗ 𝑖) 

 

𝑆− = 𝑞 ∗
𝑞𝑇 − 1

𝑞 − 1
 

 

Střadatel  
polhůtní 

𝑆+ = (𝑚 +
𝑚 − 1

2
∗ 𝑖) 

 

𝑆+ =
𝑞𝑇 − 1

𝑞 − 1
 

 

Zásobitel  𝑧 =
𝑞𝑇 − 1

𝑞𝑇 ∗ (𝑞 − 1)
 

Anuitní faktor  𝑎 =
q𝑇 ∗ (q − 1)

q𝑇 − 1
 

Efektivní úroková 
míra 1 + 𝑖𝑒𝑓 = (1 +

𝑖

𝑚
)
𝑚

 

NPV ∑
𝐶𝐹𝑡

(1 + 𝑟)𝑡

𝑇

𝑡=0

 

RCF 𝑅𝐶𝐹 = 𝑁𝑃𝑉 ∗ 𝑎𝑇ž 


